
Term 1231 – STAT 3311 – Chapter 15 Excel Example 1 (Sheet 1)
Dr. Hani Kabajah

Model: y = y(x1)

x1 x2 y SUMMARY OUTPUT
100 4 9.3

50 3 4.8 Regression Statistics
100 4 8.9 Multiple R 0.814905707
100 2 6.5 R Square 0.664071312

50 2 4.2 Adjusted R Square 0.622080226
80 2 6.2 Standard Error 1.001791873
75 3 7.4 Observations 10
65 4 6
90 3 7.6 ANOVA
90 2 6.1 df SS MS F Significance F

Regression 1 15.87130435 15.87130435 15.81457814 0.004080177
Residual 8 8.028695652 1.003586957
Total 9 23.9

Coefficients Standard Error t Stat P-value Lower 95% Upper 95% Lower 99.0% Upper 99.0%
Intercept 1.273913043 1.400744525 0.909454237 0.389687361 -1.956209623 4.50403571 -3.426127389 5.973953476
x1 0.067826087 0.017055637 3.976754725 0.004080177 0.028495716 0.107156458 0.010597817 0.125054357

RESIDUAL OUTPUT PROBABILITY OUTPUT

Observation Predicted y Residuals Standard Residuals Percentile y
1 8.056521739 1.243478261 1.316548778 5 4.2
2 4.665217391 0.134782609 0.14270284 15 4.8
3 8.056521739 0.843478261 0.893043577 25 6
4 8.056521739 -1.556521739 -1.647987631 35 6.1
5 4.665217391 -0.465217391 -0.492554962 45 6.2
6 6.7 -0.5 -0.529381502 55 6.5
7 6.360869565 1.039130435 1.10019286 65 7.4
8 5.682608696 0.317391304 0.336042171 75 7.6
9 7.37826087 0.22173913 0.234769188 85 8.9

10 7.37826087 -1.27826087 -1.353375317 95 9.3

-2

-1

0

1

2

0 20 40 60 80 100 120Re
si

du
al

s

x1

x1  Residual Plot

0

5

10

0 50 100 150

y

x1

x1 Line Fit  Plot

y

Predicted y

0

5

10

0 20 40 60 80 100

y

Sample Percentile

Normal Probability Plot

Uploaded By: anonymousSTUDENTS-HUB.com



Term 1231 – STAT 3311 – Chapter 15 Excel Example 1 (Sheet 2)
Dr. Hani Kabajah

Model: x1 = x1(y)

x1 x2 y SUMMARY OUTPUT
100 4 9.3

50 3 4.8 Regression Statistics
100 4 8.9 Multiple R 0.814905707
100 2 6.5 R Square 0.664071312

50 2 4.2 Adjusted R Square 0.622080226
80 2 6.2 Standard Error 12.03616413
75 3 7.4 Observations 10
65 4 6
90 3 7.6 ANOVA
90 2 6.1 df SS MS F Significance F

Regression 1 2291.046025 2291.046025 15.81457814 0.004080177
Residual 8 1158.953975 144.8692469
Total 9 3450

Coefficients Standard Error t Stat P-value Lower 95% Upper 95% Lower 99.0% Upper 99.0%
Intercept 14.40167364 16.92886667 0.850716939 0.419658836 -24.63636291 53.43971019 -42.40123113 71.20457841
y 9.790794979 2.462006248 3.976754725 0.004080177 4.113398391 15.46819157 1.529810406 18.05177955

RESIDUAL OUTPUT PROBABILITY OUTPUT

Observation Predicted x1 Residuals Standard Residuals Percentile x1
1 105.4560669 -5.456066946 -0.480803755 5 50
2 61.39748954 -11.39748954 -1.004378396 15 50
3 101.539749 -1.539748954 -0.135686949 25 65
4 78.041841 21.958159 1.935013884 35 75
5 55.52301255 -5.523012552 -0.486703187 45 80
6 75.10460251 4.89539749 0.431396007 55 90
7 86.85355649 -11.85355649 -1.04456828 65 90
8 73.14644351 -8.146443515 -0.717887201 75 100
9 88.81171548 1.188284519 0.104714928 85 100

10 74.12552301 15.87447699 1.398902949 95 100
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Term 1231 – STAT 3311 – Chapter 15 Excel Example 1 (Sheet 3)
Dr. Hani Kabajah

Model: y = y(x2)

x1 x2 y SUMMARY OUTPUT
100 4 9.3

50 3 4.8 Regression Statistics
100 4 8.9 Multiple R 0.615181966
100 2 6.5 R Square 0.378448851

50 2 4.2 Adjusted R Square 0.300754957
80 2 6.2 Standard Error 1.362675331
75 3 7.4 Observations 10
65 4 6
90 3 7.6 ANOVA
90 2 6.1 df SS MS F Significance F

Regression 1 9.044927536 9.044927536 4.87102439 0.058349789
Residual 8 14.85507246 1.856884058
Total 9 23.9

Coefficients Standard Error t Stat P-value Lower 95% Upper 95% Lower 99.0% Upper 99.0%
Intercept 3.379710145 1.564907041 2.15968748 0.062819979 -0.228971963 6.988392253 -1.871159116 8.630579406
x2 1.144927536 0.518761633 2.207039735 0.058349789 -0.051338934 2.341194006 -0.595718674 2.885573747

RESIDUAL OUTPUT PROBABILITY OUTPUT

Observation Predicted y Residuals Standard Residuals Percentile y
1 7.95942029 1.34057971 1.043461691 5 4.2
2 6.814492754 -2.014492754 -1.568012704 15 4.8
3 7.95942029 0.94057971 0.732115284 25 6
4 5.669565217 0.830434783 0.646382215 35 6.1
5 5.669565217 -1.469565217 -1.143859627 45 6.2
6 5.669565217 0.530434783 0.41287241 55 6.5
7 6.814492754 0.585507246 0.455738944 65 7.4
8 7.95942029 -1.95942029 -1.525146169 75 7.6
9 6.814492754 0.785507246 0.611412148 85 8.9

10 5.669565217 0.430434783 0.335035808 95 9.3
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Term 1231 – STAT 3311 – Chapter 15 Excel Example 1 (Sheet 4)
Dr. Hani Kabajah

Model: x2 = x2(y)

x1 x2 y SUMMARY OUTPUT
100 4 9.3

50 3 4.8 Regression Statistics
100 4 8.9 Multiple R 0.615181966
100 2 6.5 R Square 0.378448851

50 2 4.2 Adjusted R Square 0.300754957
80 2 6.2 Standard Error 0.732180214
75 3 7.4 Observations 10
65 4 6
90 3 7.6 ANOVA
90 2 6.1 df SS MS F Significance F

Regression 1 2.611297071 2.611297071 4.87102439 0.058349789
Residual 8 4.288702929 0.536087866
Total 9 6.9

Coefficients Standard Error t Stat P-value Lower 95% Upper 95% Lower 99.0% Upper 99.0%
Intercept 0.685355649 1.029811583 0.665515576 0.524440708 -1.68939412 3.060105417 -2.77006109 4.140772387
y 0.330543933 0.149768003 2.207039735 0.058349789 -0.014821701 0.675909567 -0.171985726 0.833073592

RESIDUAL OUTPUT PROBABILITY OUTPUT

Observation Predicted x2 Residuals Standard Residuals Percentile x2
1 3.759414226 0.240585774 0.34852041 5 2
2 2.271966527 0.728033473 1.054653067 15 2
3 3.627196653 0.372803347 0.540055105 25 2
4 2.833891213 -0.833891213 -1.208002047 35 2
5 2.073640167 -0.073640167 -0.106677552 45 3
6 2.734728033 -0.734728033 -1.064351026 55 3
7 3.131380753 -0.131380753 -0.19032245 65 3
8 2.668619247 1.331380753 1.928681643 75 4
9 3.19748954 -0.19748954 -0.286089797 85 4

10 2.70167364 -0.70167364 -1.016467352 95 4

-1

0

1

2

0 2 4 6 8 10

Re
si

du
al

s

y

y  Residual Plot

0

2

4

6

0 5 10

x2

y

y Line Fit  Plot

x2

Predicted x2

0

2

4

6

0 20 40 60 80 100

x2

Sample Percentile

Normal Probability Plot

Uploaded By: anonymousSTUDENTS-HUB.com



Term 1231 – STAT 3311 – Chapter 15 Excel Example 1 (Sheet 5)
Dr. Hani Kabajah

Model: y = y(x1,x2)

x1 x2 y SUMMARY OUTPUT
100 4 9.3

50 3 4.8 Regression Statistics
100 4 8.9 Multiple R 0.950678166
100 2 6.5 R Square 0.903788975

50 2 4.2 Adjusted R Square 0.876300111
80 2 6.2 Standard Error 0.573142152
75 3 7.4 Observations 10
65 4 6
90 3 7.6 ANOVA
90 2 6.1 df SS MS F Significance F

Regression 2 21.60055651 10.80027826 32.87836743 0.00027624
Residual 7 2.299443486 0.328491927
Total 9 23.9

Coefficients Standard Error t Stat P-value Lower 95% Upper 95% Lower 99.0% Upper 99.0%
Intercept -0.868701467 0.951547725 -0.912935257 0.391634304 -3.118754293 1.38135136 -4.198626836 2.461223902
x1 0.061134599 0.009888495 6.182396959 0.000452961 0.037752025 0.084517173 0.026529977 0.09573922
x2 0.923425367 0.221113461 4.176251251 0.004156622 0.400575115 1.446275618 0.149642504 1.697208229

RESIDUAL OUTPUT PROBABILITY OUTPUT

Observation Predicted y Residuals Standard Residuals Percentile y
1 8.938459879 0.361540121 0.715264027 5 4.2
2 4.958304573 -0.158304573 -0.313186725 15 4.8
3 8.938459879 -0.038459879 -0.076088286 25 6
4 7.091609146 -0.591609146 -1.170428164 35 6.1
5 4.034879206 0.165120794 0.326671805 45 6.2
6 5.86891717 0.33108283 0.655007908 55 6.5
7 6.486669543 0.913330457 1.806915424 65 7.4
8 6.798748921 -0.798748921 -1.580229516 75 7.6
9 7.403688525 0.196311475 0.38837885 85 8.9

10 6.480263158 -0.380263158 -0.752305324 95 9.3
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Term 1231 – STAT 3311 – Chapter 15 Excel Example 1 (Sheet 6)
Dr. Hani Kabajah

Model: x2 = x2(x1)

x1 x2 y SUMMARY OUTPUT
100 4 9.3

50 3 4.8 Regression Statistics
100 4 8.9 Multiple R 0.162033911
100 2 6.5 R Square 0.026254988

50 2 4.2 Adjusted R Square -0.095463138
80 2 6.2 Standard Error 0.916436071
75 3 7.4 Observations 10
65 4 6
90 3 7.6 ANOVA
90 2 6.1 df SS MS F Significance F

Regression 1 0.18115942 0.18115942 0.215703192 0.654711196
Residual 8 6.71884058 0.839855072
Total 9 6.9

Coefficients Standard Error t Stat P-value Lower 95% Upper 95% Lower 99.0% Upper 99.0%
Intercept 2.320289855 1.281396709 1.810750596 0.107766813 -0.634616255 5.275195965 -1.979292429 6.619872139
x1 0.007246377 0.015602444 0.464438578 0.654711196 -0.028732923 0.043225677 -0.045105865 0.059598619

RESIDUAL OUTPUT PROBABILITY OUTPUT

Observation Predicted x2 Residuals Standard Residuals Percentile x2
1 3.044927536 0.955072464 1.105376966 5 2
2 2.682608696 0.317391304 0.367340752 15 2
3 3.044927536 0.955072464 1.105376966 25 2
4 3.044927536 -1.044927536 -1.209372978 35 2
5 2.682608696 -0.682608696 -0.79003422 45 3
6 2.9 -0.9 -1.041637474 55 3
7 2.863768116 0.136231884 0.157671373 65 3
8 2.791304348 1.208695652 1.398914096 75 4
9 2.972463768 0.027536232 0.031869746 85 4

10 2.972463768 -0.972463768 -1.125505226 95 4
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Term 1231 – STAT 3311 – Chapter 15 Excel Example 1 (Sheet 7)
Dr. Hani Kabajah

Model: x1 = x1(x2)

x1 x2 y SUMMARY OUTPUT
100 4 9.3

50 3 4.8 Regression Statistics
100 4 8.9 Multiple R 0.162033911
100 2 6.5 R Square 0.026254988

50 2 4.2 Adjusted R Square -0.095463138
80 2 6.2 Standard Error 20.49213352
75 3 7.4 Observations 10
65 4 6
90 3 7.6 ANOVA
90 2 6.1 df SS MS F Significance F

Regression 1 90.57971014 90.57971014 0.215703192 0.654711196
Residual 8 3359.42029 419.9275362
Total 9 3450

Coefficients Standard Error t Stat P-value Lower 95% Upper 95% Lower 99.0% Upper 99.0%
Intercept 69.49275362 23.53332691 2.952950677 0.018342763 15.22480446 123.7607028 -9.470673345 148.4561806
x2 3.623188406 7.801221906 0.464438578 0.654711196 -14.36646157 21.61283838 -22.55293275 29.79930956

RESIDUAL OUTPUT PROBABILITY OUTPUT

Observation Predicted x1 Residuals Standard Residuals Percentile x1
1 83.98550725 16.01449275 0.828900252 5 50
2 80.36231884 -30.36231884 -1.571534867 15 50
3 83.98550725 16.01449275 0.828900252 25 65
4 76.73913043 23.26086957 1.203968239 35 75
5 76.73913043 -26.73913043 -1.384000873 45 80
6 76.73913043 3.260869565 0.168780594 55 90
7 80.36231884 -5.362318841 -0.277550311 65 90
8 83.98550725 -18.98550725 -0.982678127 75 100
9 80.36231884 9.637681159 0.498840423 85 100

10 76.73913043 13.26086957 0.686374417 95 100
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